Christmas Challenge – 2023

Once again The Notchers have challenged The Scratchers to a fireside fixture this Christmas.   Readers are invited to accept the Challenge by completing the scorecard and giving the result of the following match.   Please send your entry (limited to one per reader, please) to The Third Umpire, 60 The Lawns, Rolleston-on-Dove, Staffordshire, DE13 9DB to arrive not later than 31st January 2024 (or email johnmbrown60@gmail.com): please mark your entry DACO.   All entries will be examined and the names of all those whose entries are correct will be put into the Umpire’s hat, from which the winner of the prize will be drawn at random. 

You are invited to solve the clues in order to discover how many runs each player scores.   You should record all these scores in batting order, and complete your solution by giving the result of the match.   Normal Laws of Cricket (2022 Code - updated) apply (no special regulations).   There are no trick questions; all relevant information is provided in the clues, and you should assume that the umpire gives appropriate signals.

Scratchers XI (batting first)

1. It is the sixth ball of the over – the striker skies the ball which is caught by mid-on.   The batters run and have crossed before the catch is taken,   Which batter should face the next ball?   

Non-striker - 10, new batter - 20?     

2. The scores are level, Team A having been bowled out for 128.   Team B have scored 128 when the striker hits the ball and the batters run.   They have not crossed when a fielder throws the ball which goes on to cross the boundary before both batters have made good their ground.   What is Team B’s final score?       

3. If the batters run and complete a run while the bowler is running up to bowl, but does not deliver the ball, how many runs should be added to the total of the batting side?
4.  … and how many to the fielding side’s total?      

5. The injured striker has a runner;   No ball is called and signalled, and the striker hits the ball to wide long-on and stands within his ground while the runner and non-striker run   They have crossed on their second run and the runner is just short of his ground when the striker’s wicket is fairly put down   How many runs should be added to the total?          

6. The striker hits a return catch to the bowler, but the non-striker shouts “Drop it” and the chance is put down.   There is an appeal – what should the umpire’s decision be?   

Not out – 10, Non-striker out – 20, Striker out – 30.   
7.  A ball, fairly delivered, comes to rest in front of the striker who steps forward and hits the stationary ball to the boundary?   How many runs should be added to the total?             

8. In a one-day match the captains agree to play a two-innings match.   Team are 172 all out.   How many runs must Team B score to avoid the possibility of being asked to follow on?     

9. A 45-minute lunch interval has been scheduled at 1.00pm.   If a wicket falls at 12.58pm, at how many minutes after 1pm should play resume?        

10. In an eventful over the first ball is hit one-bounce to the boundary; the second is played back to the bowler; the third ball is called and signalled Wide and the batters run two; from the fourth the striker hits the ball and the batters run two plus four overthrows (thrown after the batters had crossed), but the umpire calls and signals short run;  from the fifth ball the batters run two and the umpire raises one leg and touches it with his hand; the next ball is called a No Ball and again the batters run two, but the umpire signals by raising one hand above his head;   The last two balls of the over are hit for a single and a three.   

How many runs should be added to the total?             

11. … and how many runs should be debited against the bowler?          

Extras: What is the latest time in minutes before the scheduled start time that the toss may be made?     

Total:

Notchers XI

1. The scores are level, Team A having been bowled out for 128.   Team B have scored 128 when the striker hits the ball and the batters run.   They have crossed when a fielder throws the ball which goes on to cross the boundary before both batters have made good their ground.   What is Team B’s final score?    

2.  The striker hits the ball back to the bowler who deflects it on to the top of the stumps with the non-striker out of his ground.   The ball flies in the air to mid-on who catches it.   There is an appeal What is the correct decision?   Striker out caught – 10; non-striker run out – 20.    

3. The striker hits a return catch to the bowler from a ball which has been called and signalled No Ball, but the non-striker shouts “Drop it” and the chance is put down.   There is an appeal – what should the umpire’s decision be?   

Not out – 10, Non-striker out – 20, Striker out – 30.         

4. At the end of the seventeenth over in a 46-over per side match, the umpires suspend a player for a Level 3 offence.   How many legitimate balls must be bowled before he may return?             

5. After a batter has been dismissed lbw from the second ball of an over, how many minutes does the next batter have to be ready to take his guard?               

6. The injured striker has a runner;   No ball is called and signalled, and the striker hits the ball to wide long-on and stands just in front of the popping crease while the runner and non-striker run   They have crossed on their second run and the runner is just short of his ground when the striker’s wicket is fairly put down   How many runs should be added to the total?  
7.  On a windy day it has been agreed to dispense with the bails.   After the batters have crossed for a second run the ball is returned to the bowler who touches the stumps firmly with the ball in hand and the batter short of his ground.   There is an appeal – what should the umpire’s decision be?

Out – 10; not out - 20
8. In preparing to receive the ball the striker hits his own wicket with his bat.   The bowler does not deliver the ball, but stops and appeals.   What should the umpire’s decision be?   

Out – 10; not out – 20          

9. The striker plays back to defend a ball which spins towards his stumps.   He bends and pushes the ball away with his hand (not holding the bat).   There is an appeal – what should the umpire’s decision be?   

Not out – 10; Handled the ball – 20; Hit ball twice – 30; Obstructing the field – 40 
10. The injured striker has a runner – No ball is called and signalled, and the striker plays and misses.   Both he and his runner are out of their ground when the wicket-keeper fairly breaks the wicket and appeals.   What should the umpire’s decision be?   

Not out – 10; stumped - 20; run out -30     

11. What is the earliest time in minutes before the scheduled start that the toss may be made?         

Extras: The striker misses a No Ball which eludes the wicket-keeper; the batters run, but one of them fails to make good his ground in turning for a second run, after which an overthrow goes to the boundary.   How many signals would you expect the scorer to have to acknowledge?

Total:               

Result: 
